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Instructions:
1.  Attempt all questions.
2 Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4.  Use of simple calculators and non-programmable scientific calculators are permitted.
5 English version is authentic.

Marks
Q.1 (a) | Differentiate between Private key and Public key in Blockchain. 03
8.1 (2) | eallsAHi Private key i< Public key <l dslad 24, 03
(b) | Explain Distributed Ledger in detail. 04
(o)) | Distributed Ledger < (3214312 44Al. oY
(c) | Define Blockchain.Describe applications and limits of Blockchain. 07
(5) | Blockchain e4v41lid 521 Blockchain <l 2Altesaidl sid Halelziie 09
QA 53,
OR
(c) | Write a short note on : CAP Theorem in Blockchain 07
(5) | 25l it @il : odlisA4ui CAP Theorem 09
Q.2 (a) | Explain Data Structure of a Blockchain. 03
U4.2 | (W) | edlsA-s Data Structure AHmal. 03
(b) | What are the benefits of Decentralization? 04
() | Decentralization il 2%l 9 £9? oY
(c) | Differentiate between Public Blockchain and Private Blockchain. 07
(5) | Public 6@lsd i< Private 6@l 422 dsldd 53U 09
OR
Q.2 (a) | Describe Core Components of Block Chain with suitable diagram. 03
U2 | (@) | A9 2u50A 218 0dls AL Core Components < 4Bl 5. 03
(b) | Define and explain permissioned blockchain in detail. 04
(o) | Permissioned odisded c41vALLd 521 24 (4014912 AHMAl oY
(c) Explain sidechain in brief. 07
(5) | Sidechain  2[ArdHi uHMAlL. 09
Q.3 (a) | Define Consensus Mechanism and explain any one in detail. 03
U3 (¥) | Consensus Mechanism < clvailid 521 vt 515UBL 2is4 [Ao1daR 03
U1,
(b) | Why is Forking needed in Blockchain? List various types of Forks 04
in Blockchain.
(o) | odisddAui Forking 2l H12 or34l ©9? odisddMi [A[44 U1zl Forks <l o¥
412l ot 1Al
(c) | What is Bitcoin Mining ? Explain working , difficulty and benefits 07
of Bitcoin mining in detail.
(5) | Bitcoin Mining ¢ £?Bitcoin Mining <l 514515y, He5cl 24 512121 09
(491 (414212 syeudl.




OR

Q.3 (a) | Differentiate Soft fork and Hard fork. 03
8.3 (20) | Soft fork 2i- Hard fork il dsldd »uul. 03
(b) | What is the importance of Finality in the World of Blockchain ? 04
(o) | eisAael glumi Finality < 9 Heed £9? oY
(c) | Whatis a 51% attack in Blockchain ? Explain in brief. 07
(5) | cdisA4HI51% attack 99?7 25l AHMAL, 09
Q.4 (a) | Describe various types of Hyperledger projects. 03
g4 | () | (A3 usidL Hyperledger Wisyszi« 4Bl 521, 03
(b) | Differentiate between Blockchain and Bitcoin. 04
(ot) | Blockchain i< Bitcoin <l dslad iUl oY
(c) | Write a short note on : Merkle Tree 07
(5) | 28l s @vil: Merkle Tree 09
OR
Q.4 (a) | Discuss briefly about Hash pointer and how it is used in Merkle 03
tree.
Usd.4 | (@) | Hash pointer (42l 254l 221 521 21 Merkle tree i d<ll Gudial 54l <ld 03
21,9,
(b) | What is Hashing in Blockchain? How it is useful in Bitcoin? 04
(00) | odisAHi Hashing 9 £9?Bitcoin Hi d 54l <ld Gualoll £9? oY%
(c) | Explain classic Byzantine generals problem and Practical Byzantine 07
Fault Tolerance in detail.
(5) | Classic Byzantine generals problem i< Practical Byzantine Fault 09
Tolerance . [421ddI2 UHMAL,
Q5 (a) | Listand explain cryptocurrency wallets in blockchain. 03
8.5 (»1) | edisd-ui cryptocurrency wallets <l A1E] oieldl id “HMAl, 03
(b) | Write advantages and disadvantages of ERC-20 token. 04
(?) | ERC-20 2isei-ll $I42L i<l 202514EL QU oY
(c) | What are dApps used for ? Explain advantages and disadvantages of 07
dApps.
(5) | dApps<l GWALL 2l HIZ 214 £9? dAPPS <Ll 5IAEL il AR5AEL AHMA. 09
OR
Q.5 (a) | Explain tokenized and token less Blockchain in detail. 03
2.5 (1) | Tokenized i token less 6@isAd- [A214a12 AHMAL. 03
(b) | Write advantages and disadvantages of Hyperledger. 04
(o) | Hyperledger <L 51£1 24 21251421 vl oY
(c) | Explain Smart contract. Write various applications of smart 07
contract.
(5) | Smart contract 4Ha1dl. Smart contract <(l (4[4 viftetsau quil, 03




